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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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B - SECTION - 111

SCIENCE (PCM)

CHEMISTRY

61. The mineral of iron is 65. A srr-lall. drop of liquid is

A) Malachi spherical in shape due to

(B) o 1t'e ~(A) low viscosity

(((»C; I(\:/IaSSIte?lte (B) surface tension

agnetite O hyd “bondi
: ydrogen-bonding

D) Pyrotusic Techofwor,ld N(©) ysrogen
62. Th lubili
e ahi e 66. According to VSEPR theory, the

expression for
Agz PO, ==3A. " +P0,%  is

(A) K =[Ag*][PO,3 ]
VB)/K; ~[Ag* [P0,

(€ K, =[3ag"]° [PO,°7]

(D) K, = 3[Ag"][PO,°"]

Among following reactions, an
example of calcination process

is
(A)
(B) Fe,O3+ 3C > 2Fe + 3CO
(C) 2ZnS +30, - 2Zn0O +
Techofworld.In - 289
(D) MgCO5; — MgO + CO2
64. The IUPAC name of_

63.

FeO + SiO2 — FeSiQ 3

2

shape of XeF 4 molecule is

Octahedral

Square planar

(A)
(B)
(C) Linear

(D) Tetrahedral

67. The alkane obtained by ‘the
- of aqueous
solution of

electrolysis
concentrated

sodium acetate is
(A) CH 4

(B) CHZ;CH,CH,
(C) CH3CH,CH,CH,
(D) CH3CH4

68. The reaction between HCIl and
Na,CO, is represented by the

equation

Br NOQ O
s N Na, CO 5+ 2HCI — 2NaCl +
CHz— CH — CH 'C=-OH. is P €0
\/@) 3-Bromo-2- N1tro " butanocic CO,+H,0
- acid If 25 ml of 005 N Na,CO
(B) 3-Nitro-2-Bromo butanoic R _ 3
acid solution is neutralized by 50 ml
(C) 4-Bromo-3-Nitro butanoic of HCI, the concentration of HCI
acid is .
(D) 1-Carboxy-2-Nitro-3-Bromo (A) 001 N (B) 0-025 N
- propane (C) O1N (D) 0..05 N
63241 | | XX (P-1)-01 | [24] liContiniigd:)




69. The oxidation number of an

element in g compound is

evaluated on the
certain

basis of

Which of the

following rules is not correct in

this respect ?

(A) Oxidation number  of
hydrogen is always + 1

(B) Algebraic sum of oxidation

rules.

number of all elements in °

the compound is zero

(C) An element in the free or

uncombined state has zero
oxidation number

(D) In all compounds oxidation

, number of fluorine is - 1
70. Among the species Hg, o+,

NH; BeH,, BCl,, the central

atom of one that uhdergoes
sp 2-hybridisation is -

(A) HZ;07 (B) BCl,

(C) NH, - (D) BeH,

71. The correct order of electron
affinity among halogens is
(A) F>Cl>Br>1

'4C) Cl>F>Br>1I
(D) F>Br>Cl>1I ,

72. The volume of a gas increases
from 150 ml to 450 ml on
heating. If the original
temperature of the gas is 300 K,
up to what temperature the gas
_has been heated ?

(A) 300K  (B) 600K
(C) 450K  (P) 900K
63241 | |XX (P-1)-01
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73. The rea'ction in which two
compounds exchange their ions
to form two new compounds is
an example of |
(A) displacement rea;tion
(B) combination reaction
(C) double

reaction

displacement

(D) redox reaction

- 74. Arrange the following species

from left to right in  the
increasing order of their ionic
radii. - |

Nat, F~, Mg2+, 0%,

(A) F~ <Mg2?* <Na* <02~
JBY Mg2* <Nat <F~ <02~
(C) Na* <02~ <F~ <Mg2*
(D) Mg2+ <Na't < Oz—i <F~

75. The ‘correct order of stability of
the carbocations

L. CHy"

. (CHy)3C*

+
II. CH; -CH," and

IV. (CH3 )y CH is

AT 1> 10> 1V > I

(B) I>II>IV>I
(C) I>IV>II>11
(D) I>IV>II>1

( Turn over)

~Vo
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76.

. O

3 2

77.

MORE R0

The arrangement  of  the

following in the increasing order

~of their masses is

I. 1:5 mole ofO2

Il 05 g atom of oxygen

I 301 x 1023 molecules of

oxygen
IV. 56 litres of CO,, at STP.
(A) M<I<IV<II
B) IV<II<II<I |
(C) H<IV<II<I

(D) I<II<II<IV.

Which set of quantum numbers
correctly defines one electron in

an atomic orbital with n = 2,

=07
(A) n=21=0 m=0 S=-§l-]_
AB) n=21-0 m=0 s=+1
'l(c) ‘n=2 1;0 m=1 s=+%
_(D): n=}2 1=0 m=1 s=__%

63241
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78.

d.In i

i

80.

J =
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SET -D

The product(s) obtained by t.he
reaction of chlorobenzen.e with
Cl, in presence of FeCl 5 is (are)

Cl
ér Cl

Cl

Cl

Cl Cl
@/ Cl

Which of the followmg rules
explains the presence of
maximum number of unpaired

‘electrons in a given subshell ?

(A) Octet rule

(B) Pauli’s exclusion pnn01ple
(C) Hund’s rule

~D) Aufbau principle

Ny(g)+3H, (g) =2NH,(g)

At equilibrium, if the pressure
is increased at constant
temperature, there will be an
increase in number of

- molecules of

(A) N,(g) only

(B) H,(g) only |
(&' NH, (g) only -
(D) both N, (g)and H,,(g)
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